## Oscillation of Higher-order Nonlinear Neutral Differential Equation\* 高阶非线性中立型微分方程的振动性

ZHANG Qiong-fen, LI Chuan-hua, FENG Chun-hua 张琼芬, 李传华, 冯春华

(College of Mathematics Science, Guangxi Normal University, Guilin, Guangxi, 541004, China) (广西师范大学数学科学学院, 广西桂林 541004)

Abstract: The oscillation of a kind of higher-order nonlinear neutral differential equation

 $\{a(t,x(t))[x(t) + \sum_{i=1}^{m} c_i(t)x(\tau_i(t))]^{(n-1)}\}' + \int_a^b F(t,\zeta,x(g(t,\zeta)))d\sigma(\zeta) = 0$ (Where  $t > t_0$  and  $n \ge 2$  is even) is discussed. Some sufficient conditions for the oscillation of the above equation are obtained.

**Key words**:differential equation, oscillation, continuous distributed delay, nonlinear 摘要:研究一类高阶非线性中立型方程

 $\{a(t,x(t))[x(t) + \sum_{i=1}^{m} c_i(t)x(\tau_i(t))]^{(n-1)}\}' + \int_a^b F(t,\zeta,x(g(t,\zeta)))d\sigma(\zeta) = 0$ (其中  $t > t_0, n \ge 2$  为偶数)的振动性,并获得该方程振动的一些充分条件. 关键词:微分方程 振动性 连续分布时滞 非线性 中图法分类号:O175.12 文献标识码:A 文章编号:1005-9164(2007)04-0345-03

Recently, there are many papers concerning the oscillation of second order neutral differential equation<sup> $[1 \sim 8]$ </sup>. However, only a few papers investigate the oscillation of higher-order nonlinear neutral differential equation with continuous distributed delay<sup> $[5 \sim 8]$ </sup>.

Fu and Liu<sup>[5]</sup> gave some sufficient conditions for the oscillation of the equation

$$\frac{\mathrm{d}^{m}}{\mathrm{d}t^{m}}[y(t) + \lambda(t)y(t-\tau)] + \int_{a}^{\beta} Q(t,\zeta)F(y[h(t,\zeta)]) \mathrm{d}\sigma(\zeta) = 0.$$

A. Zafer<sup>[6]</sup> showed that the equation

 $[y(t) + Q(t)y(\tau(t))]^{(n)} + f(t,x(t),x(\sigma(t)))$ = 0

oscillates if  $\phi(t)$  is a nonnegative continuous function on  $[0, +\infty]$  and that w(t) > 0 for t > 0 is continuous and non-decreasing on  $[0, +\infty]$  with

收稿日期:2006-12-11

\* Supported by the Natural Science Foundation of China(10461003). 广西科学 2007 年 11 月 第 14 卷第 4 期

$$\|f(t, x, y)\| \ge \|y\|$$

$$\phi(t)w(\frac{\|y\|}{[1 - a(\sigma(t))][\sigma(t)]^{n-1}})$$
and

$$\int_{0}^{\pm\lambda} \frac{\mathrm{d}x}{w(x)} < \infty$$

for every  $\lambda > 0$ . If *n* is even and

$$\int_0^\infty \phi(t) \mathrm{d}t = \infty.$$

In this paper, we consider a more general higherorder nonlinear neutral differential equation

$$\{a(t,x(t))[x(t) + \sum_{i=1}^{m} c_i(t)x(\tau_i(t))]^{(n-1)}\}' +$$

$$\int_{a}^{b} F(t,\zeta,x(g(t,\zeta))) d\sigma(\zeta) = 0, \qquad (1)$$

which has continuous distributed delay. And we will give some sufficient conditions for the oscillation of Equation(1).

## **1** Preliminaries

**Definition 1** A solution x(t) of Equation(1) is called eventually positive (or eventually negative) if there exists a constant  $T_0 > t_0$ , such that x(t) > 0 (or

作者简介:张琼芬(1980-),女,硕士研究生,主要从事脉冲微分方程 研究。

x(t) < 0 ) for  $t > T_0$  .

**Definition 2** A solution of Equation(1) is called oscillatory if the solution x(t) is not eventually positive and not eventually negative.

**Definition 3** Equation (1) is called oscillatory if all solutions of Eq. (1) are oscillatory.

Throughout this paper, we always assume that

 $\begin{aligned} (\mathrm{H}_{1}) \ c_{i}(t) \ , \tau_{i}(t) \in \left( \left[ t_{0} \ , +\infty \right) \right) \left[ 0 \ , +\infty \right) \right), \tau_{i}(t) \\ \leqslant t \ , \ \lim \tau_{i}(t) = +\infty \ , i = 1, 2, \cdots, m; \end{aligned}$ 

 $(\mathrm{H}_{2})g(t,\zeta) \in ([t_{0}, +\infty) \times [a,b], [0, +\infty)),$  $g(t,\zeta) \leqslant t, t \in [t_{0}, +\infty), \zeta \in [a,b], \text{ the function}$  $g(t,\zeta) \text{ is non-decreasing with respect to } t \text{ and } \zeta,$ respectively, and  $\lim_{t \to \infty} \min_{g(t,\zeta)} g(t,\zeta) = +\infty;$ 

 $(H_3) F(t,\zeta,x) \in C([t_0, +\infty) \times [a,b] \times R,$  $R), \sigma(\zeta) \in C([a,b],R)$ , the function  $\sigma(\zeta)$  is nondecreasing, and the integral of Equation(1) is Stieltjes integral.

## 2 Main results

**Lemma**  $\mathbf{1}^{[9]}$  If u(t) is n-times differential function on  $[0, +\infty]$  of constant sign,  $u^{(n)}(t)$  is of constant sign and identically zero in any interval  $[t_0, +\infty]$ , and  $u^{(n)}(t)u(t) \leq 0$ , then there exists an integer  $l, 0 \leq l \leq n-1$  with n-1 odd, such that for  $t \geq t_0$ ,

$$\begin{split} & u^{(k)}(t) > 0, 0 \leqslant k \leqslant l; \\ & u(t)u^{(k)}(t) > 0, k = 0, 1, \cdots, l; \\ & (-1)^{k-1}u(t)u^{(k)}(t) > 0, k = l, \cdots, n-1. \end{split}$$

**Theorem 1** Assume that the following conditions hold.

 $(H_4) a(t, x(t)) \in C([t_0, +\infty) \times R, (0, +\infty));$ 

 $(\mathbf{H}_5)0 \leqslant \sum_{i=1}^m c_i(t) \leqslant 1, t \geqslant t_0;$ 

(H<sub>6</sub>) There exist two functions  $q(t,\zeta) \in C([t_0, +\infty) \times [a,b], [0, +\infty))$  and  $f(x) \in C(R,R)$ , such that

 $F(t,\zeta,x)sgnx \ge q(t,\zeta)f(x)sgnx, \qquad (2)$ 

$$-f(-x) \ge f(x) \ge \lambda x, \tag{3}$$

where x > 0 , and  $\lambda$  is a positive constant;

(H<sub>7</sub>) There exists a non-decreasing function  $\phi(t)$ for  $t \ge t_0$ , such that  $0 < \phi(t) \le a(t, x(t))$ , then

$$\int_{t_0}^{+\infty} \frac{1}{\phi(s)} ds = \infty;$$
(H<sub>8</sub>) If  $\frac{dg}{dt}(t,\zeta)$  exists for all  $t > 0$ , and there

exists a monotonically increasing function  $\varphi(t) \in C[(t_0, +\infty), (0, +\infty)]$ , such that

$$\int_{t_0}^{+\infty} \{\lambda \varphi(s) \int_a^b q(s,\zeta) [1 - \sum_{i=1}^m c_i(g(s,\zeta))] d\sigma(\zeta) - r \dot{\varphi}(s) \} ds = +\infty,$$
(4)

for any number r > 0. Then Equation (1) is oscillatory.

**Proof** Assume that x(t) is a non-oscillatory solution of Equation (1). Without loss of generality, we assume that x(t) is eventually positive(the proof is similar when x(t) is eventually negative). For the sake of convenience, the function y(t) is defined by

$$y(t) = x(t) + \sum_{i=1}^{m} c_i(t) x(\tau_i(t)).$$
 (5)

By the conditions (H<sub>1</sub>) and (H<sub>2</sub>), there exists a  $t_1 \ge t_0$ such that  $x(\tau_i(t)) > 0, x(g(t,\zeta)) > 0, t \ge t_1, \zeta \in [a, b], i = 1, 2, \dots, m$ , so we obtain

$$\mathbf{y}(t) > 0, t \ge t_1. \tag{6}$$

Using Inequalities (2) and (3), from Equation(1) it follows that

$$\zeta(\zeta)))d\sigma(\zeta) \leqslant -\lambda \int_{a} q(t,\zeta) x(g(t,\zeta)) d\sigma(\zeta) \leqslant 0, t \ge t_1.$$
(7)

Therefore, the function  $a(t, x(t))y^{(n-1)}(t)$  is monotonically decreasing. In the following, we can proof that  $y^{(n-1)}(t) \ge 0$  for  $t \ge t_1$ . In fact, if there exists a  $t_2 \ge t_1$ , such that

 $y^{(n-1)}(t_2) < 0.$ 

Integrating both sides of Inequality (7) from  $t_2$  to t, by the condition (H<sub>1</sub>), we have

 $a(t,x(t))y^{(n-1)}(t) \leq a(t_2,x(t_2))y^{(n-1)}(t_2) = L$ < 0, and hence

$$y^{(n-1)}(t) \leqslant \frac{L}{a(t,x(t))}.$$
(8)

Integrating both sides of Inequality (8) from  $t_2$  to t, we get

$$y^{(n-2)}(t) \leqslant y^{(n-2)}(t_2) + \int_{t_2}^t \frac{L}{a(s,x(s))} \mathrm{d}s.$$

Let  $t \rightarrow +\infty$ , by the condition (H<sub>7</sub>), we have

$$\lim y^{(n-2)}(t) = -c$$

and hence

$$\lim y(t) = -\infty.$$

This contradicts Inequality (6). Therefore we have  $y^{(n-1)}(t) \ge 0$  for  $t \ge t_1$ .

By Lemma 1, there exists a  $t_3 \ge t_2$  and an odd l, such Guangxi Sciences, Vol. 14 No. 4, November 2007 that

 $y^{(i)}(t) > 0, 0 \leq i \leq l, t \geq t_3; (-1)^{k-1} y^{(k)}(t) > 0$  $0, k = l, \cdots, n - 1, t \ge t_3;$ let i = 1, we get

 $y'(t) > 0, t \ge t_3.$ 

In view of  $y(t) \ge x(t)$  and the monotone of the function y(t), together with Inequality (7) and the condition  $(H_1)$ , we obtain

$$0 \ge \left[a(t,x(t))y^{(n-1)}(t)\right]' + \lambda \int_{a}^{b} q(t,\zeta)x(g(t,\zeta))d\sigma(\zeta) \ge \left[a(t,x(t))y^{(n-1)}(t)\right]' + \lambda \int_{a}^{b} q(t,\zeta)d\sigma(\zeta)$$

$$(\zeta) \left[y(g(t,\zeta)) - \sum_{i=1}^{m} c_{i}(g(t,\zeta))y(\tau_{i}(g(t,\zeta)))\right]d\sigma(\zeta)$$

$$\ge \left[a(t,x(t))y^{(n-1)}(t)\right]' + \lambda \int_{a}^{b} q(t,\zeta)\left[1 - \sum_{i=1}^{m} c_{i}(g(t,\zeta))\right]y(g(t,\zeta))d\sigma(\zeta).$$

$$(9)$$

Since the function  $g(t,\zeta)$  is non-decreasing, using the condition  $(H_2)$ , we have

 $g(t,a) \leq g(t,\zeta), t \geq t_3, \zeta \in [a,b].$ 

By Inequality (9) and the monotone of the function y(t), we have

$$\begin{bmatrix} a(t,x(t))y^{(n-1)}(t) \end{bmatrix}' + \lambda y(g(t,a)) \int_{a}^{b} q(t,\zeta) \begin{bmatrix} 1 \\ -\sum_{i=1}^{m} c_{i}(g(t,\zeta)) \end{bmatrix} d\sigma(\zeta) \leqslant 0.$$

$$(10)$$

Define

$$w(t) = \varphi(t) \frac{a(t, x(t))y^{(n-1)}}{y(g(t, a))}$$

then

$$w(t) > 0, t \ge t_3.$$
 (11)  
Since  $a(t, x(t))y^{(n-1)}(t)$  is decreasing and the function  $p(t)$  is monotonically increasing, from Inequality (10)

and the existence of  $\frac{dg}{dt}(t,a)$ , it follows that

$$w'(t) = \varphi(t) \frac{a(t, x(t))y^{(n-1)}(t)}{y(g(t, a))} + \\\varphi(t) \frac{[a(t, x(t))y^{(n-1)}(t)]'}{y(g(t, a))} - \\\frac{\varphi(t)a(t, x(t))y^{(n-1)}(t)y'(g(t, a))g'(t, a)}{y^2(g(t, a))} \leq \\\varphi(t) \frac{a(t, x(t))y^{(n-1)}(t)}{y(g(t, a))} + \varphi(t) \frac{[a(t, x(t))y^{(n-1)}(t)]'}{y(g(t, a))} + \\ \leqslant \varphi(t) \frac{a(T, x(T))y^{(n-1)}(T)}{y(g(T, a))} - \lambda\varphi(t) \int_a^b q(t, \zeta)[1 - \\\sum_{i=1}^m c_i(g(t, \zeta))] d\sigma(\zeta), \end{aligned}$$

such that  $\overline{\mathrm{d}t}$ 

Let  $r = \frac{a(T, x(T))y^{(n-1)}(T)}{y(g(T, a)} > 0$ , then  $w'(t) \leqslant - \{\lambda \varphi(t) \int_a^b q(t,\zeta) [1 - \sum_{i=1}^m c_i(g(t,\zeta))]$ 

 $(\zeta))]d\sigma(\zeta) - r\phi(t)\}, t \ge T$ . Integrating both sides of the above inequality from T to t, we get

$$w(t) \leqslant w(T) - \int_{T}^{t} \{\lambda\varphi(s)\int_{a}^{b} q(s,\zeta)[1 - \sum_{i=1}^{m} c_{i}(g(s,\zeta))]d\sigma(\zeta) - r\varphi(s)\}ds.$$

Let  $t \rightarrow \infty$ , from Equation (4), we know that this contradicts Inequality (11). Hence, the proof of Theorem 1 is completed.

**Corollary 1** In theorem 1, if we let  $\varphi(t) \equiv 1$ , and if  $\int_{t}^{\infty} \int_{a}^{b} q(s,\zeta) [1 - \sum_{i=1}^{m} c_{i}(g(s,\zeta)) d\sigma(\zeta) ds \equiv \infty.$ Then Equation(1) is oscillatory.

## **References**:

- [1] ZHUANG R K, LI W. Interval oscillation criteria for second order neutral nonlinear differential equations[J]. J Appl Math Comput, 2004, 157: 39-51.
- [2] JIANG J,LI X. Oscillation of second order nonlinear neutral differential equations [J]. J Appl Math Comput, 2003,135:531-540.
- [3] WANG P, YU Y. Oscillation of second order neutral equations with deviating arguments[J]. Math J Toyama Univ, 1998, 21:55-66.
- XU Z, JIN C. Oscillation of second order delay [4] differential equation with nonlinear neutral term[J]. Chin Quart J of Math, 2006, 21: 271-277.
- [5] LIU X, FU X. High order nonlinear differential inequalities with distributed deviating arguments and applications[J]. J Appl Math Comput, 1999, 98:147-167.
- ZAFER A. Oscillation criteria for even order neutral [6] differential equations[J]. J Appl Math Lett, 1998, 11:21-25.
- $\begin{bmatrix} 7 \end{bmatrix}$ BOLAT Y, AKIN O. Oscillatory behaviour of higher order neutral type nonlinear forced differential equation with oscillating coefficients[J]. J Math Anal Appl, 2004, 290:302-309.
- [8] WANG X. Oscillation for higher order nonlinear delay differential equations [J]. J Appl Math Comput, 2004,157:287-294.
- [9] LADDA G S, LAKSHMIKANTHAM V, ZHANG B G. Oscillation theory of differential equations with deviating arguments[M]. New York: Marcel Dekker Inc, 1987.

(责任编辑:邓大玉 蔣汉明)